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 Please clarify the iʿrāb of the āyah: 
 

�������	�
 ��
 ������ ���������������� �������� �)  !"#�
: ٢٥٢(   
 
I understand that  ��������	�
�  is &��'  but what is �&�����
 �(�'��)? 
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Dear Br Yazen, 
 
 
 

ÝøŠÖ]<ÜÓé×Âæ    
 
 
 
 
 
 
 
 
 
 
 
 

In     �������� �������	�
 ��
 ������ �������...�  
 
 
 
 
 
 

the sentence  ��������	�
�   is &��',  and its ����
 �(�'��) �&�  is  �������� .  

 

The taqdīr is: 

 

» ��������������
   , -����	�.�������� «.  
 
 
 
 

 
There is another possibility, and that is that its �&�����
 �(�'��) is  the  01�2�3
!�	�	�4�. in the muqaddar sentence  �1�5�
 67  :  
 
 
 
 
 
 

�1�5�
  )�8���
(  67 . 

 

 
Faḍīlat al-Shaykh Dr. V. Abdur Rahim )9�
 :;<'(  replies: 
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So the taqdīr is: 
 

»�1�5�
 ��
 ������ >���7 �?�������@�� «.   
 

 
 
 
 
 
However, the first iʿrāb  is preferable. 
 
Hope this has helped you. 
 
ÝøŠÖ]æ<

abdur rahim 
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